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sin® 3° = cos? 87° = 1 — sin? 87°

sin? 44° = cos? 46° = 1 — sin? 46°
wr2kA] sin? 1°4-sin? 2°4-sin? 3°+- - - +sin? 90° = 44 +sin® 45°+
91

sin? 90° = 5 ojct,




45. the =3} o] Hix]29] Zol7} 1 9l AFR Lo OC = 0.59 < o,
AB+CD 9| ol 547

B z | sin x| cos 7 | tan z

D 53°| 0.80| 0.60 | 1.33

1,// 54°| 0.81]0.59 | 1.38

// 55° | 0.82| 0.57 | 1.43

& 56° | 0.83]0.56 | 1,48
(@) C A

D 2.25 @ 1.38 @2.19 @ 1.93 ® 0.81

OC = 0.59 ©]B2 x = 54° o]},
CD =1 xsinb4° = 1 x 0.81 = 0.81

AB =1xtanb4° = 1x 1.38 = 1.38
AB+ CD =1.38 +0.81 = 2.19




